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COMMERCE
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

The first macro-environmental force
that a Dbusiness firm generally
monitors is

(A) Economic environment

(B) Demographic environment

(C) Technological environment

(D) International, Political
environment

Which of the following statements is

true ?

(A) The highest growth rate in
India is in the Manufacturing
Sector.

(B) Agricultural Sector has the
highest share in the GDP in
India.

(C) The biggest source of Central
Government’s revenue is
Central Excise.

(D) None of the above.

Which of the following statements is

true ?

(A) The Competition Commission
of India is headed by a person
having Judicial background.

(B) The definition of the term
‘goods’ as given in the
Competition Act, 2002, is the
same as given in the Sale of
Goods Act, 1930.

(C) Both (A) and (B) are true.

(D) None of the above is true.

Paper-111

Which one of the following is not
included in the Consumer Rights as per
the Consumer Protection Act, 1986 ?

(A) Right to be protected against
marketing of hazardous goods
and services.

(B) Right to be heard.

(C) Right to a physical
environment that will protect
and enhance quality of life.

(D) Right to seek redressal of
legitimate complaints.

A consumer can file a complaint
under the Consumer Protection Act,
1986, on any of the following
grounds except :

(A) Sale of defective goods

(B) Provision of deficient service
(C) Charging very high price

(D) Unfair trade practice

Financial statements provide a true

and fair view if

(A) It is free from any material
error and bias.

(B) It is prepared using the
appropriate accounting policy
and applicable accounting
standards.

(C) It is prescribed in the format
prescribed by the regulator or,
in the absence of a prescribed
format, it is prepared in a
manner that facilitates analyses
of the financial position and the
performance of the reporting
enterprise.

(D) It conforms to all of the above
(A), (B) and (C).
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10.

Which of the formula is used to
calculate Absolute Liquid Ratio is ?

( A) Current Assets, Loans & Advances-Inventories
Current Liabilities & Provisions-Bank Overdraft

(B) Current Assets, Loans & Advances
Current Liabilities & Provisions

C Absolute Liquid Assets
(©) Current Liabilities

D Absolute Liquid Assets
(D)~ Quick Liabilities

A company sells its product at T 15
per unit. In a period if it produces
and sells 8,000 units, it incurs a loss
of ¥ 5 per unit. If the volume is raised
to 20,000 units it earns a profit of T 4.
Variable cost per unit will be

(A) T 9 perunit

(B) R 4.5 perunit

(C) T 5perunit

(D) 6 per unit

Which of the following is a sub-
variance of labour efficiency
variance ?

(A) Idle time variance

(B) Labour-mix variance
(C) Labour-yield variance
(D) All of the above

An investment centre is a
responsibility centre  where the
manager has control over

(A) Costs

(B) Costs and profits

(C) Costs, profits and product
quality

(D) Costs, profits and assets
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11.

12.

13.

14.

15.

According to H.A. Simon, if a firm

fails to achieve its target initially, it

results in

(A) Search behaviour

(B) Sense of helplessness

(C) Appropriate revision of
aspiration level.

(D) Sacking of its managerial team

When the demand curve is relatively
highly elastic, the marginal revenue
IS

(A) Zero
(C) Positive

(B) Unity
(D) Negative

In which one of the following market

situations the practice of price

rigidity is found ?

(A) Perfectly competitive market

(B) Monopolistic competitive
market

(C) Oligopoly market

(D) Discriminating monopoly
market

During short-run, the optimum level
of output corresponds to that level of
output where

(A) MC is the minimum

(B) AVC is the minimum

(C) AC isthe minimum

(D) AFC stops declining

The opportunity cost is a term which

describes

(A) a bargain price for a factor of
production.

(B) production cost related at the
optimum level of production.

(C) average variable cost.

(D) the loss of the reward in the
next best use of that resource.
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12.

13.

14.

15.
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16.

17.

18.

19.

Find chi-square value for the

following :
Event | Expected | Observed
X 60 52
Y 40 48

Choose the correct answer from the
following options :

(A) 2.67
(C) 3.33

(B) 2.77
(D) 4.33

A time series is a set of data collected
at

(A) Random intervals
(B) Regular intervals
(C) Convenient intervals
(D) All of the above

Given the following data calculate the
regression coefficient of X on Y.
Pearson’s correlation coefficient = + 0.8.

Regression coefficient of Y on X =0.8
Choose the correct answer from the

following :
(A) 0.32 (B) 0.64
(C) 0.80 (D) 0.82

Which kind of test from the
following options is the right test to
use when the hypotheses for testing
are stated as :

H,: Population mean is equal to the
sample mean.

H, : Population mean is not equal to
the sample mean.

(A) One-tailed test

(B) Two-tailed test

(C) Either one tailed or two tailed
test

(D) None of the above
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20.

21.

22.

The steps in data processing are
given below :

Choose the correct sequence of steps
in data processing from the following
options :

(i) Data Storage

(i) Data Validation

(iii) Data Capture

(iv) Report Generation

(v) Data Manipulation

(A) (@), (i), (iii), (iv), (v)

(B) (i), (i), (iii), (iv), (v)

(€ (i), (i), (i), (iv), (v)

(D) (i), (i), (i), (v), (iv)

Which of the following steps are

essential in the staffing process ?

1. Hiring the right kind of people.

2. Firing the non-performing
employees.

3. Developing skills of the
employees through training.

4.  Collective bargaining.

5. Maintaining the employees by
creating favourable conditions

of work.
Codes :
(A) 1,3and5 (B) 1,2and3
(C) 3,4and5 (D) 2,3and4
F.W Taylor
1.  Viewed man as an adjunct of
man.
2. Completely neglected the

psychological aspects.

3. Emphasized only a limited
number of the psychological
variables.

4.  Under-estimated the meaning
of human motivation.

Select the correct answer from the

following :

(A) 1,2and3 (B) 3,2and4

(C) 1,2,3and4 (D) land4
S-08-13
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17.

18.

19.

fr=fertad 5 9 FrE-weeR 3 71 Y
AT | ofuferd | STaeifeRd

X 60 52

Y 40 48

FrTrad § | Hel 3T 1 99T
(A) 2.67 (B) 2.77
(C) 3.33 (D) 4.33

TUF AROT ST TShd fomam ST &
(A) TTGrF® R T

(B) Twaffa sieRretl

(C) gfaamH Jiarel W

(D) Suder

g ST K@ SR W, Y WX &
T U7 Y TOET Y | 4R &
ey ot = + 0.8.

X T Y 1 GATEIT o716 = 0.8
frfafEad § ¥ T IR 1 9hT
(A) 0.32 (B) 0.64

(C) 0.80 (D) 0.82

SR LA G R CETen R R Gl tER]

JATE TE E Al el TeT0T & ford i 4@

Tl fehoq g 2

TFheTl, | A HTed Wiaeel "ed &
T E |

TIShETT, | WAl AT Ufaee Wer &
TR FE € |

(A)  TH-TEe e

(B) SI-g=5ct UXteToT

(C) T Ueh 3R AT 3 TogeT TRIeToT

(D) S H | HiE el
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20. = UNMET % WM e g

21.

22.

fraffea fawedt @ o= &1 T
I AT

(i) =1 der

(ii) =21 AefepRoT

(iii) =21 vt

(iv) T R e

(V) T & FEl W § T
(A) (i), (i), (iii), (iv), (v)
(B) (i), (i), (iii), (iv), (v)
(C) (i), (i), (i), (iv), (v)
(D) (i), (ii), (@), (v), (iv)

frefefad & ¥ &9 ¥ HuE =T

uisha § SIHaE € ?

1. & YR & AN Bl ol BT |

2. IFomeT sHEeREr e < |

3. UTRRIUT o SR HHATRAT & HITTe
foepiad T |

4. I GeaTst

5. ®H& ® oFpa [adr 3a=
Heh HHLNAT I T TG |

—

(TA) 1,335 (B) 1,233
(C) 3,435 (D) 2,334
Th T, TR

1. 9 & BT % WeEE 6 €9 °
@A T |

2. TSRS Tecye i qoraar Suet
HAE |

3. oo Wi 9@ % mHeS
TR IAE |

4.  THEG NROT & 37 P B Hew

H T |
frefafed @ 92t ST & 99T
(A) 1,233 (B) 3,234

(C) 1,2,33X4 (D) 13R4
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23.

24,

25.

The authoritarian leadership style
goes with

(A) Theory X
(B) Theory Y
(C) Theory Z
(D) None of these

Select the four stages of group
development from the following :

1.  Forming 2. Storming
3. Discussing 4. Norming
5. Warning 6.  Performing

Codes :
(A) 1,2,3and5 (B) 2,3,4and6
(C) 3,4,5and6 (D) 1,2,4and6

Match the following :

List— 1| List—11

(@) To check the 1. Speed boss
quality  of
work.

(b) To see that 2. Inspection
work is
completed in
time.

(c) To check 3. Instruction
absenteeism clerk
of workers.

(d) To issue 4. Shop
instruction discipline
regarding
method  of
work

Codes :

@ (b (© ()

(A) 3 2 1 4

(B) 2 1 4 3

C 2 1 3 4

(D) 4 3 1 2
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26.

27.

28.

29.

30.

A company plans to create the largest
possible total sales volume. It should
use

(A) Concentrated marketing

(B) Differentiated marketing

(C) Homogeneous marketing

(D) Undifferentiated marketing

The third stage in the consumer-
buying decision process is

(A) Evaluation of alternatives

(B) Information search

(C) Purchase decision

(D) None of the above

Manufacturers of convenience goods
typically seek distribution.
(A) Exclusive (B) Intensive
(C) Restrictive (D) Selective

Which promotional tool is most cost
effective when a product is in the
decline stage of its product life cycle ?
(A) Advertising

(B) Personal selling

(C) Public relations

(D) Sales promotion

Match the items of List-1 with those
of List-II.

List—1 List—11
(a) Product (i) Information
support Technology
service Act 2000
(b) Interviewers’ (ii) Information
bias Search
(c) On-line (iii) Marketing
advertising Research
(d) Personal (iv) User’s
sources Manual

Indicate the correct matching.
@ (® (@ (@
(A) (iv) (i) (i) (i)
(B) (iv) (i) (i) (i)
(€ () () (i) (iv)
(D) (i) (i) (iv) (i)
S-08-13



23.

24,

25.

AMYHRAR! g Velt H=feiad § &
forereh T AT @t € 2

(A) &Rt X

(B) &Y

(C) &Rtz

(D) T ¥ HiE Tl

frfafed & @ 9Mfes fawm & o)
STEETST BT T P ;
1. i 2.
3. Tegmta 4,
5. @it

T

(A) 1,2,331R5 (B) 2,3,43K6
(C) 3,4,53R6 (D) 1,2,43R6

it
FiferT
TRITET

FATeTE i gHTAT Y
=i - |

(a) =
ToTErT
St

(b) e w
I & TR
TR ST

(c) IR
STufetd =
SiE]

(d) =R F TS
% Hag o
T S
HTAT

=t - 1
1. wits &4

2. Feor

3. M FoTh

4, HIA9TAT

ATRTET

. T4

(=N

@ (b (© (@
A 3 2 1 4
B 2 1 4 3
C 2 1 3 4
O 4 3 1 2
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26.

27.

28.

29.

30.

T FHIOA T T Swied Fof ekt
IR 3= I B AT S €, 39
T fafa =1 STamT AT aed ?

(A) =i foauE

(B) fav=erl fomur

(C) u9wY fauuH

(D) eferdfea fauum

STIE-ENE Mol Uik W ARy
I &

(A) Taedt 1 goai

(B) =T St qCIT

(C) wRT = ol

(D) S H § g el

giaemRes awget & faftidr wreius w9
Y {9 TR & faaeor =i =y od & ?
(A) Sastt (B) &

(C) videerds®s (D) <I-H®

G U IO, 04 3G e dsh i
e e M B s N s
TS SUHIT T ANTA-eTel
T § 2

(A) Tasmo=

(O ICEESEACED]

(C) WTE=Ieh Try

(D) fornr Hada

-1 T -1 % T GHferd
= - | =t - 11

(a) 3T SrEeTs (i) GOl WRNTen
gar tatag 2000

(b) TR Sl (i) g S AT
&

(C) -t (iii) famoe oy
(d) A & (iv) ST

IERCICIl
TE gHe 39

@ ® © @
(A) (iv) (i) (i) (i)
(B) (iv) (iii) (i) (i)
(©) M an (i) (iv)
(D) (i) (i) (iv) (i)
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31.

items of List-11.
List — |

@ A

capital

theory

of

structure

(b)

in  which the
weighted average
cost of capital
and the total
value of the firm
remains constant
as financial
leverage IS
changed.

The value of the
geared company
will always be
greater than an
ungeared

company  with
similar business
risk but only by
the amount of
debt associated
tax savings of the
geared company.

(c) Capital structure
that  minimizes
the firm’s cost of
capital and
thereby
maximizes  the
value of the firm.

(d) Share price is
independent  of
the degree of
financial
leverage.

Codes :

I inm v
(A) () (d) () ()
(B) (d () (@ (b
€ @ () () (d
D) ) (@ (@) ()
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Match the items of List-1 with the

List— 11
I. Capital
Asset
Pricing
Model

Il. Traditional
Approach

I11. Net
Operating
Income

Approach

IV. Modigliani-
Miller
Theory and
Corporate
Taxation

10

32.

33.

34.

Which one of the following
expression represents a correct
matching ?

(A) A decrease in the proportional
claim on earnings and assets of
a share of common stock due to
the issuance of additional
shares : Dilution.

Anticipated annual dividend
divided by the total book value
of the firm : Dividend Yield.
When a shareholder receives
lesser number of new shares in
exchange for a given number of
old shares : Stock split.

The costs associated with
issuing securities, such as
underwriting, legal, listing and
printing fees Transaction
Costs.

(B)

©)

(D)

When the internal rate of return of a

project is more than the hurdle rate,

the Net Present VValue would be :

(A) Zero (B) Positive

(C) Negative (D) Uncertain

Statement | : The presence of fixed
operating costs in the operating

cost structure of a firm
regardless of the volume
denotes the presence of

financial leverage.
Statement Il : Super leverage is the

result of the multiplicative
combination of the degree of
operating leverage and
financial leverage.

Codes :

(A) Both statements are true.

(B) Both statements are false.

(C) Statement 1 is true, but
Statement 11 is false.

(D) Statement 1 is false, but
Statement |1 is true.
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31.

gaAl-1 ot gl-11 % Grer GAferd 1
e - | =t - 11
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EGENGIEES))
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AT SEH
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FHT T HOT
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A & IR |
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FA T |
(d) o791 Higd, fadm |V SuRe
Il =i feut FIRITUT 3T
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eR fagT=

Il IR
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I ot v=me=
3 3UNTH

. T4

(=N

I i wv
(A © @ b @
(B) (d (© (@ (b
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D) ) @ (@ (©
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32.

33.

34.

frefofad & 9 o9 | efiyefe s
el e et e & 2

(A) e 3 % FET & SR
A Wik o 3T % A 0o
oREmfaal W Aae qd |

AT ; et

(B) H W Fel WAl Hed FRT U
I AT 1 Tar= © e
wAfey

(C) & el [ 39 & ued
& & 98l | a9 3 d A

T U 1 & Wi foEe

(D) wiewfaar & fme, S 6
T B § S[E AT © o=
AT

S GRS o UidEel Sl 3TN T

Y H T G IR € A I a9

o B

(A) 3= (B) &arH®R

(C) FOTcH® (D) M=

HAT | BH & Y= AN g H R
T ATl i, GILATOT i &

H fo @R, fodE Sdied W
U SR € |

FUF |l GR oS, qaeH oS

e fodm oferst @ felt @
TOTeH TS RO € |

HE
(A) IHIFTTAE |
(B) SHI F A& |

(C) =M | 98 ¢ g &2 |l 31
T

(D) FF | 30T § g A || I
T
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35.

36.

37.

38.

39.

Which one of the following

expressions has incorrect matching ?

(A) A method of financing where
each asset would be offset with
a financing instrument of the
same approximate maturity :
Hedging Approach.

(B) A method of financing where
all long term funds are used to
finance the current assets
Aggressive Approach.

(C) The amount of current assets
required to meet a firm’s long-
term  minimum  needs
Permanent working capital.

(D) Trade credit and other payables
that arise in the firm’s day to
day operations : Spontaneous

Financing.

The Equal Remuneration Act, 1976
is primarily applicable to workers
working on

(A) Monthly wage basis

(B) Annual wage basis

(C) Daily wage basis

(D) Contractual wage basis

In comparing  Maslow’s and
Hertzberg’s Theories of Motivation,
which motivators of Hertzberg are
similar to the need specified by
Maslow ?

(A) Affiliation needs

(B) Physiological needs

(C) Security needs

(D) Self-actualisation needs

The managerial function of staffing
is most closely related to

(A) Controlling (B) Leading
(C) Marketing (D) Organising

The ‘staffing function’
include :

(A) Performance appraisal
(B) Placement

(C) Selection

(D) Span of control

does not

Paper-111
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40.

41.

42.

43.

On-the-job training does not include
(A) job rotation

(B) planned progression

(C) sensitivity training

(D) temporary promotion

Generally the following are the
important items appearing on the
assets side of the Balance Sheet of a
Commercial Bank.

(@ Cash in hand

(b) Bills discounted

() Money at call and short notice
(d) Loans and advances

(e) Investments

Which of the following sequence is
correct in the order of liquidity ?

(A) (a), (b), (d), (c) and (e)

(B) (@), (c). (b), (¢) and (d)

(C) (b), (d), (c), (2) and (e)

(D) (c). (d), (b), (e) and (a)

Which one of the following is not a

correct method of calculating
profitability ratio in banking sector ?
(A) Burden = Man power
ratio expenses ratio +
other
establishment
expenditure ratio
— non interest
income ratio.
(B) Profit- = Spread ratio -
ability burden ratio
ratio
(C) Spread = Interest earned
ratio ratio + Interest
paid ratio
(D) Interest = Interest
earned earned/volume
ratio of business

Capital adequacy norm is expressed
as a percentage of

(A) Standard Assets

(B) Risk adjusted Assets

(C) Sub-standard Assets

(D) Investments
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35.

36.

37.

38.

39.

frfafed & ¥ &H 91 g0 T&t gaferd
T E?

(A) formmor # Umd SR U
IR AT 39T URYeedr &
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TR & fomamer % o
ToparT T € ; SIS SUTTH

o] UG Sl 7 ST w
% SR ATH STTTTIHATS
% o tfemd € ; T srEeie
it

MR 0T Td 3 3gd1d S Y
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2l & : Test foraroT
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Y T 6T MR W 1 X E HHTRI
TR YT BT § 9
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(B) afeh ASIG & 3MER T

(C) = TS/t o MR W

(D) WfoRTeHs ANgY & SR 0T
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qo X W, ESE % IR HEel &
R Sfeaitad e STevasar & wHH
TR ST § 2 .

(A) Fee EwHAT

(B) WW

(C) §wm smwawat

(D) AU STEvTHAE

(B)

(©)

(D)

FHERT T (LT oh Fareehi i e
[T FlTyeh i &7 § Fraid € ?
(A) FrEon (B) g
(C) fomom (D) wfed &

FHART 9l T 1 FArad § J
IS T AT & ?

(A) TR oA

(B) =&m=A

(C) ===

(D) =T forgfal
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40.

41.

42.

43.

‘AR AR FEfated 8§ 9
TR FeTfae 7 e & 2

(A) T iR

(B) TaifsTa etigoT

(C) ToRsiieTar (3T gumfear) roreTor
(D) 3T YRt

AT AR e 7Y € S
AT S & fog & uRgmtd uer o
3T &

(a) TR IS

(b)  wfergfeT FeifepeoT

(C) T HST Ue Whered g

(d) 07 UE W

(e) Trawr

TREAT o 359 H I AT SFhH Tel € ?
(A) (a), (b), (d), (c), (e)

(B) (a), (c), (b), (e), (d)

(C) (b), (d), (c), (a), (e)

(D) (c), (d), (b), (&), (@)

SIS & H ATRAAT ST I TOAT

T ety i & @ & 2

(A) IR I = 59 e =d
HET + I
PIRiSiE] =
I — S T
A AT

(B) ©MRIAM = HHT AN TR
ST FIE - WX

ShEIN]

(C) =ma = oIS AT S
AT + T ST ST
A
AT

(D) o= = Afva = -

ST A T IRHTT

IS v " e ufaer o
®Y § T AT ST § 2

(A) TH IRt

(B) iifem HMINTT aRawat

(C) 3TE-AMDE uREm it

(D) e
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44,

45.

46.

The major sources of funds for IFCI

Ltd. (during the year 2011-12) are

given below :

(i) Reserves and Surpluses

(i)  Borrowings in Rupees

(iii) Share Capital

(iv) Borrowings in
Currency

Which of the following sequence is

correct ?

(A) (i), (iii), (iv) and (ii)

(B) (iii), (i), (ii) and (iv)

(C) (i), (i), (iii) and (iv)

(D) (iv), (i), (i) and (iii)

The Bonds and Debentures issued by
State Financial Corporations are
guaranteed by

(A) Reserve Bank of India

(B) IDBI

(C) Central Government

(D) State Government

Items given are related to
international trade theories. Match
the items in List-A with most suitable
options in List-B.

Foreign

List— A List—B
(a) ‘Zero-sum’ (i) Factor
game proportion
theory
(b) Labour- (i) Mercantalism
Capital theory

relationship

(c) Relative (iii) Theory of

efficiencies of ‘Absolute
the producing advantage’
countries
(d) “Positive- (iv) Theory of
sum’ game Comparative
advantage
Codes :

@ 0 (© @
(A) (i) (iv) () (i)
(B) (i) (i) (iv) (i)
(©) (i) () () (iii)
(D) (iv) (@) (i) (i)
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47.

48.

The following are the stages in
international business entry process.
Arrange them in correct sequence.

(i)  Direct experience
(i)  In-depth scrutiny
(iii)
(iv)

(v) Final selection

Country identification

Preliminary screening

Codes :

(A)  (iv), (iii), (i), (i), (v)
(B)  (iii), (iv), (i), (i), (V)
(C) (i), (iv), (ii), (v), (i)
(D) (i), (iv), (v), (iD), (i)

Which of the following intellectual

properties were covered under

Uruguay Round Agreement on
TRIPS ?

(i) Copy rights
(i)  Trade marks
(iii)

(iv) Undisclosed information,

Industrial designs

including trade secrets
Codes :
(A) (i) and (ii) only
(B) (i), (i) and (iii)
(C) (i), (iii) and (iv)
(D) (i), (ii), (iii) and (iv)
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44,

45.

46.

IFCI LTD =t 4y & ferd g &t (@
2011-12 % IRE) = 58 7 &

(i) ReeqwE s
(i) T0& H SR i
(iii)  TeTdST

(iv) focen =t § 3uR afer
WWW:

(A) (), (i), (iv), (i)

(B) (iii), (i), (ii), (iv)

(C) (i), (i), (iii), (iv)

(D) (iv), (i), (i), (iii)

g o m g S 5 =
U Ue /0T U ol TR2] i T € ?
(A) 9RedE S a9

(B) IDBI

(C) = TWHR

(D) T WHR

gAl-A Fl 7T 0l gE-B # 53 waifys
YT Tashel & QY AT # | BS
ST AR fagT=l & Gatd € |

= - A = - B
(a) SR-EAwEr (i) PRI
s

(b) sO-UsTt gay (i) SUSHER H
fagT

(C) ST HH
oA 90 i
1 c

&

SERIY
(d) e
e

(iii) et oMy
s

(iv) JecHS e
&1 s

T4

@ () (© ()
(A) (i) (iv) () (i)
(B) (i) (iii) (iv) (i)
(©) @) () (v) (iii)
(D) (iv) (i) (i) (iii)
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47.

48.

FNEE  FEgE  wEaw ik A
frfeiaa staens ® Wel Smy o
AT Y

(i) v Agae

(i) & Helter

(i) 397 F T

(iv) wRfe S

(v) g ==

T
(A)
(B)
(©)
(D)

(iv), (iii), (i), (i), (v)
(iii), (iv), (i), (i), (v)
(iii), (iv), (i), (v), (i)
(iii), (iv), (v), (ii), (i)

ffefad & @ @9 9@ difgs gt
feum (TRIPS) W 3% 3R & WHeid &
ST THITE i T o ?

(i) riRE

(i) g wEs

(iii) et fosmea

(iv) =EMUR & T 91 o Foe, T
AT

(>N

(A)
(B)
(©)
(D)

Fae (i) 3 (i)

(i), (ii) = (i)

(ii), (iii) 37 (iv)
), (ii), (iii) 3% (iv)
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49.

50.

ol.

52.

Which of the following statements is

true ?

(A) If the absolute Purchasing
Power Parity (PPP) holds good,
then the relative PPP also holds
good.

(B) If the relative PPP holds good,
then the absolute PPP also
holds good.

(C) If the absolute PPP does not
hold good, then the relative
PPP also will not hold good.

(D) If the absolute PPP holds good,
then the relative PPP may or
may not hold good.

A company is planning to enter a
foreign market. Which of the
following entry strategies will give it
the maximum control ?

(A) Direct export

(B) Direct investment

(C) Financing

(D) Licensing

The opportunity cost approach in
Human Resources Accounting was
introduced by

(A) Hckimian and Jones

(B) Rensis Likert

(C) Eric. G. Flamholtz

(D) William C. Pyle

The GDRs and ADRs can be listed on

(A) Luxemburg Stock Exchange
(LSE)

(B) New York Stock Exchange
(NYSE)

(C) Over the Counter Exchange of
India (OTCEI)

(D) Any of the Overseas Stock
Exchanges

Paper-111

16

53.

54,

Match the following :

List — | List— 11

(Name of the credit (Ownership)

rating agency)

(@) CRISIL 1. IFCI
(b) ICRA 2. ICICI
(c) CARE 3. Duff &
Phelps
Corpn.
(d) Duff and Phelps 4. IDBI

Credit Rating of
India Ltd.

Codes :
@ () () (d)

A 1 2 3 4
B 2 1 4 3
© 1 2 4 3
)2 4 1 3

Which of the following is responsible
for investigating cases referred to it
and deciding whether a proposed
merger is in the ‘public interest’ ?
(A) Director General of Fair
Trading (DGFT).

(B) Secretary of State for Trade
and Industry.

(C) Competition Commission of
India (CCl).

(D) Prime Minister Office.
S-08-13



49.

50.

ol.

52.

fetetfiad & | i &1 e W e ?

(A) afg TR s vifed a9an fag
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f qemters PPP ot @] =@
B |

(D) af FRUer PPP o] gt €, ot fe

JoeTHs PPP @1 & Wehel € &
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IS o1 W@ E | FeETetEd § F e
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(A) G e
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(C) forareoT
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(B) @ ez

(C) uRe Sit. Feiveieest

(D) faferaw 4. ureat
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(B) =g d% wish uaRest (NYSE)

(C) 3TieR <t FIST ToadST 3 grean

(OTCEI)
(D) IS ot 3MeRTT Tieh TS
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53.

54,

ffetEa = o
= - |
(shfee ¥ Tt

T )

=t - 1
(Tafa)

IFCI
ICICI

(a) CRISIL 1.
(b) ICRA 2.

(c) CARE 3. THUE

(d =% T %eag 4.
e e oiw
<fean fefies

IDBI

@ () () (d)
A 1 2
B) 2 1
€ 1 2

4

3
4
4
(D) 2 1

w W w b

frfefea & 9 =9 9 99 T 99et St

I FH & o SR T@ Hgem w

% o SRR & T o it foeram

A e’ 7 &2

(A) TEEFX SFRA HE HA e
(DGFT).

(B) Wshell M W< ®R T WS
e

(C) wIReir wfqaifiTar =T (CCl)

(D) WM Tl T
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55.  Match the following :

List— 1|

@ A popular
windows
accounting
package
providing general
ledger, accounts
receivables,
invoicing,
accounts payable,
inventory and
sales analysis
capabilities.

(b) A good, entry
level accounting
package.

(c) Simplest, yet
most powerful
software to
handle financial
accounting,
inventory, sales
and purchase
orders, invoicing
and more.

(d) A complete range
of accounting

software

providing an

integrated

solution at the

heart of one’s

business.
Codes :

@ () (c) (d)
(A) 4 3 2 1
(B) 1 2 4 3
C) 2 4 1 3
(D) 2 3 4 1

Paper-111
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1. Sage
Account-

ing
Software

2. M.Y.O.B.

3. Best
Books

4. Tally
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56.

S57.

58.

59.

60.

In order to be wuseful, market
segments must have each of the
following characteristics except :

(A) accessibility
(B) adaptability
(C) measurability
(D) substantiality

Mass media has the maximum
impact at which stage of consumer
adoption process.
(A) Adoption

(C) Evaluation

(B) Awareness
(D) Trial

Pricing decisions are most complex
at which stage of the product life
cycle ?

(A) Decline stage

(B) Introductory stage

(C) Growth stage

(D) Maturity stage

Industrial buyers are likely to be
most responsive to appeal.

(A) emotional (B) moral
(C) rational (D) cognitive

Indicate the true statement :

(A) Advertisement’s sales effect is
easier to measure than its
communication effect.

As a tool of promotion, public
relations can be more cost-
effective than advertising.

A successful salesperson is one
who can sell refrigerator to an
Eskimo.

All the above are true.

(B)

(©)

(D)
S-08-13
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(©)

(d)

= - |

(=N

rferd fomet
GIElER R
TR T &
T GTel,
AT Wi,
TSI, W
T, A
3 farsht
fargetooT evmar

ST YA W
[EEIEERCE)
e, T ot
ECRAICSEIC]
HreaaY i
forita i,
o=, farsnt
3T TIT 3ffey,
TSN a7fs |
ST AT
TG Heal
St o7 3T, ST
Tt o Faa
% T T Tehighd
& SUCTSY ST
T

1. 9T AGiHT
HgeaaT

2. M.Y.O.B.

3. TEH
J&AH

4,

A L, BN
R W W e

19

56.

S7.

58.

59.

60.

ST gH & o, IR fowst |
frfeiad o 9 U faeivdn giH1 =med
e

(A) TR

(B)  3FTHeTT &

(C) ©I I &FereT

(D) ®RYufen

SUMISRAT STTIeRCoT Ufshar bt T 3Teren
T ST ATEAH T ATIHAT TS TS & 2

(A) 3R FAT  (B) ST
(C) T (D) RieTor

SCITE-STie o5k ot [ 3Tae WX idd
o Tt ot gaifus Stiea i
T2

(A) T ST

(B) URMH arareen

(C) Yl =t srawen

(D) URTeEaT S ST

Afer shamor fhg amE & Ui

Ak UiarshaTeiet & ¥ehd & ?

(A) Hagarms  (B) Hfaw
(C) ferTaer (D) HIHS
T H Id12 |

(A) oo & fasht TTe s 39 UuoT
TS H O B AT HEAT SIT&T
A |

(B) Ha€T % IUFOT % w9 H, oo
H T T rESTHh T SATET
AT T & et & |

(C) U UwcA faskar o® =t & S
TEHHAT i AR o TehelT © |

(D) SWH T TFE |
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61.

62.

63.

64.

Who observed in 54 of the cases
studied that high morale related to
high productivity in 11 of the cases
high morale was associated with low
productivity and in 35% of the cases
there was no relationship between
morale and productivity ?

(A) Michael J. Jucious

(B) Richard E Walton

(C) Frederick Herzberg

(D) None of the above

Who developed the goal-setting
theory of motivation ?

(A) Frederick Herzberg

(B) Edwin Locke

(C) Richard Hackman

(D) None of the above

Which of the following concepts,
involves setting objectives and
comparing performance against those
objectives ?

(A) Performance Appraisal

(B) Merit Rating

(C) Management by Objectives

(D) Formulation of objectives and

policies
The career development cycle
includes :

(A) Introductory stage — Growth
stage — Saturation stage —
Decline stage.

(B) Primary stage — Secondary
stage — Stage of self-
actualisation.

(C) Pioneering stage — Growth
stage — Maturity stage —
Decline stage.

(D) Exploratory stage -
Establishment stage -
Maintenance stage — Stage of
Decline.

Paper-111
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65.

66.

67.

68.

It is a mental condition or attitudes of
individuals and groups which
determine  their  willingness to
cooperate.

(A) Job satisfaction
(B) Motivation

(C) Job Advancement
(D) Morale

Which of the following most
appropriately describes the meaning
of the term “option forward’ ?

(A) Forward contract entered into
along with buying a call option.

(B) Forward contract entered into
for buying or selling at a future
date.

(C) Forward contract entered into
for buying or selling over a
period of time.

(D) Forward contract entered into
with writing a put option.

‘Dual adaptation strategy’, in the
context of international product
decisions, means :

(A) Modification of product and
packaging it to meet local
requirements.

(B) Changing product and price to
meet local requirements.

(C) Modification of product and
the marketing communication
to suit the foreign markets.

(D) None of the above.

The main promoter of international
trade liberalisation

(A) GATT-WTO(B) NAFTA
(C) CEPTA (D) CISA
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61.

62.

63.

e stactie fan € 76 54 Amen o
ST TOT S99 SARedl % 91
Ty €, 11 el § 3 q1iee (4
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AT T T Ue SIS ehal & e i
Tra el & 9

(A) TTEH S, R

(B) =€ g ameed

(C) Thelie astant

(D) S H | T el

RO T e TR0 T fope
Tophaa fopam & 2

(A) heRe gsia

(B) uslaA @i

(C) T=E EHm

(D) SUgH | § Hig 7@l

frfofed & & S 9@ sTeuRT Sevat
H ERa F 3R A W F faeg
FSATE <l o h SR et & 2
(A) TR godid

(B) maar wife TRoT

(C) =¥ % AR Uayg

(D) SE¥Er AR e s fufor

64. HRAR faeprd =k | T €
(A) TREIF O — GIg e
— FgW O — e B
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(B) weIHeh TRl —» THUT STl —>
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— URUFE FIET —> IEAT B
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(D) STNUITCH® 3Tael —  TTOAT
IS — ST T —
31T i STewERn
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65.

66.

67.

68.

g Al 3T TRl B AHGSH e
a7 Afghaat eidt & S Wedim FA Hf
SRt e et et €

(A) i

(B) ehyuROT

(C) =™ Wit

(D) T

freffad & @ 9 @ AWE (FES

) ATFRT U5 % 37 Sl Iuge €9

AT T & ?

(A) B AWE & FF F AE-AI
FTART R BT |

(B) et fatar WX g a1 fasha & ford

JTIKT HIT AT |

(C) THAMR 67 a1 ok & ot arast
I HET |

(D) U M fofe & QT amEeT
FIR HET |

AT 3aug ForEr & T A g

3TIHA U ol 37 & ;

(A) T STEvISRdTeT B T HA
% o 3R w1 W@ U 39
Ut AT |

(B) WM MERIHAI H T A
o o %] wel I S |

(C) fo=el I & 3SUe 3cIIE Ud
fauur FER 1 GeneE

(D) S ® W HiE TE

ST AR IIRIEHIUT il & Talish
(A) GATT-WTO

(B) NAFTA (ATe=T)

(C) CEPTA

(D) CISA (dram)
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69.

70.

71.

72.

The most common trade barrier faced
by a multinational company is the

(A) Embargo (B) Quota
(C) Salestax (D) Tariff

Exchange Rate System where the
Central Bank intervenes to smoothen
out the exchange rate fluctuations is
termed as

(A) Free float

(B) Clean float

(C) Managed float
(D) Fixed rate system

Mr. X, after about 20 years’ stay in
India, returns to America on January
29, 2009. He came to India in June
2011. His residential status for the
Assessment year 2012-13 will be

(A) Ordinarily Resident

(B) Not Ordinarily Resident
(C) Non-Resident

(D) Resident or Non-Resident

Mr. X retired from a Pvt. Ltd.
Company on 31-3-2011. The
company paid ¥ 80,000 in lieu of
commutation of 25 percent of
pension on 31-01-2012, but does not
pay any gratuity to its employees.
The amount taxable as commuted
pension for the Assessment Year
2012-13is:

(A) 80,000
(C) %1,60,000

(B) ¥ 3,20,000
(D) Nil

73.

74.

75.
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Consider the following :

The book profit of a firm of
Chartered  Accountants,  which
satisfies all the conditions of Section
184 and Section 40(b), for the year
ended 31-3-2012, is ¥ 72,190.

The actual remuneration paid to the
partners for the year is ¥ 1,56,000.

The amount of remuneration
permissible under Sec: 40(b) is :

(A) % 1,56,000
(C) 364,971

(B) 72,190
(D) ¥ 1,50,000

‘Winman’, software can be used for
(A) Preparation of Balance Sheet
(B) Computation of Income Tax
(C) Filing of e-Returns

(D) All of the above

Which of the following deductions
under Chapter VI A of Income Tax
Act, 1961, cannot be claimed by a
partnership firm ?

(i) Sec.80-G (i) Sec. 80-C
(iii) Sec. 80-D (iv) Sec. 80-1B
Codes :
(A) (i), (iii) and (iv)
(B) (i) and (iii)
(C) (i), (ii) and (iii)
(D) (i) and (iii)
S-08-13



69.

70.

71.

72.

T AT w A gaitus Td
U AUR 3TERET T FEAT T
TS E, A E

(A) wfcdee

(B) et (a1 i)

(C) fospa <

(D) ==

faf= 3 womett SRt FsE S fata
W F AR Tedl B W HA & ford
TEALT AT &, T FEeAT § 2

(A) T HeH

(B) W= vacH

(C) vt var

(D) &R T yoTet

S X 9RA § 20 99 @A F W%,
SRR 29, 2009 I SR wlie T | o
S 2011 B 9RA T & | oAk ad
2012-13 & for@ et Tamdr wferfa
ull

(A) QYR AT

(B) HERuUTEET e

(C) erfardr

(D) et = stfamd

ot X wreae fatade st @ 31-3-2011
H AI-FgT gT | HEA 7 U F 25
a9t & IR0 & S5t § 2 80,000
F PE 31-01-2012 H HA W
U HEANET B IS I T@l qF |
2012-13 & Hogiwa 9y & o FGLE
U & &Y FHIeT AR e ;

(A) 80,000 (B) % 3,20,000
(C) %1,60,000 (D) =

73.

74.

75.
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Tr=fertEd o fomm o

LT FTHZICH Hl HH S URT 184 3R
¥R 40(b) i T uRfEIfaar i QT et
¥, &1 31-3-2012 1 QAT & ared o
% ford =&t @ o T 72,190 ¥ 3} 39
FU WERRI & JAE FF S el
arEdfersh TRt € 1,56,000 € | €T ;

40(b) & ST STHT TR bt TR
B

(A) ¥1,56,000 (B) %72,190
(C) 64971 (D) % 1,50,000

fa8T’ gideaay fhde o™ SuanT T
ST g1 & ?

(A) o=t FH Ft TRt
(B) STEeRY Sl URITOHT

(C) E-Re sifget e

(D) T

TERR ®H AEH AMA=E, 1961 &
3t VI A & 3T=Ta TR it
el T Gehell & ?
(i) w80-G
(iii)
FE :
(A) (i), (iii) 2% (iv)
(B) (i) 3 (iii)

(©) (i), (ii) & (iii)
D) (ii) = (i)

(i) =T 80-C

aRT 80-D  (iv) wT 80-IB
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